WEBSTER PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				64,717	cords	
Hardwood				50,095	cords	
Pulpwood (Total)				114,812		
Chip & Saw (Total)				3,355	cords	
Saw Timber						
Pine				37,359,117	board feet	
Hardwood				4,799,187	board feet	
Saw Timber (Total)				42,158,304		
Total Pulpwood, Chip & Saw,						\$31,163,988
Saw Timber FOB Mill						
Total Forestry Stumpage						\$18,078,890
(Total)						
Christmas Trees (Total)	*				trees	\$12,000
Pine Straw (Total)	*			12,000	bales (40 lbs.)	\$24,000
Forestry (Total)						\$31,199,988
FRUITS						
Blackberries (Total)	*	1.0	825.00		pints	\$1,444
Blueberries (Total)	*	5.0	750.00	3,750	lbs.	\$7,313
Mayhaws						
Orchard	*	15.0	100.00	1,500	lbs.	\$1,950
Mayhaws (Total)		15.0				\$1,950
Muscadines						
Fresh	*	5.0	670.00	3,350	gals	\$26,800
Muscadines (Total)		5.0				\$26,800
Peaches (Total)	*	20.0	175.00	3,500	bu.	\$140,000
Fruits (Total)		46.0				\$177,506
FEED GRAINS						
Corn (Total)	*	266.5	70.00	18,655	bu.	\$49,436

Feed Grains (Total)		266.5					\$49,436
GREENHOUSE VEGETABLES Tomatoes (Total)	*	5 000 0	2.50	Yield / sq. ft.	12,500	1ha	\$16,875
` /		5,000.0	2.30	i ieiu / sq. ii.	12,300	108.	
Greenhouse Vegetables (Total)		5,000.0					\$16,875
HAY FOR SALE		7.500.0	1.50		11.050		#1 020 500
Grass (Total)		7,500.0	1.50		11,250	tons	\$1,039,500
Hay for Sale (Total)		7,500.0					\$1,039,500
Home Gardens (Total)	2,650						\$530,000
VEGETABLES							
Cantaloupe (Total)	*	4.0	160.00		640	cartons (40	\$11,155
						lbs.)	
Collards							
Fresh	6	4.0	600.00		2,400	doz. bunches	\$16,800
Collards (Total)		4.0					\$16,800
Mustard (Fresh) (Total)	6	4.0	610.00		2,440	doz. bunches	\$17,080
Okra (Fresh) (Total)	7	10.0	200.00		2,000	bu.	\$60,000
Snap Beans (Fresh) (Total)	6	12.0	120.00		1,440	bu. (30 lbs.)	\$43,200
Southern Peas (Fresh) (Total)	23	25.0	110.00		2,750	bu. (24 lbs.)	\$68,750
Sweet Corn (Fresh) (Total)	10	10.0	600.00		6,000	doz. ears	\$21,000
Tomatoes (Field) (Total)	6	20.0	1,000.00		20,000	lugs (20 lbs.)	\$400,000
Turnips (Fresh) (Total)	6	5.0	600.00		3,000	doz. bunches	\$21,000
Watermelon (Total)	17	50.0	150.00		7,500	cwt.	\$60,000
Vegetables (Total)		144.0					\$718,985
TOTAL ALL PLANT ENTERPRISES							\$33,732,290
	DIGITED	IEC O MILL D	I IDE ENGED	DDICEC DDODLICTIO	T . T		

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE							
Catfish (Farm) (Total)	*	7 Acres in Prod.	8,000	lbs.	\$6,160		
Minnows (Total)	*	10 Acres in Prod.	500	lbs.	\$1,700		
Fish bait (Total)	*		1,000	lbs	\$7,000		
Aquaculture (Total)					\$14,860		
Fur Animals (Total)			69	pelts	\$1,366		
Alligators (Wild) (Total)			120	ft.	\$3,000		
WEBSTER PARISH							

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
HUNTING LEASES						
Waterfowl (Total)	*	40	No. Acres Leased		acre	\$2,000
All Other Game (Total)	410	200,500	No. Acres Leased		acre	\$1,403,500
Hunting Leases (Total)						\$1,405,500
Honey (Total)	*	40	No. Hives	3,500	lbs.	\$3,150
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$1,427,876
	ANIM	IAL ENTERPRISES	PRODUCTIO	ON		
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				4,000	head	\$1,988,420
400-500 lbs.				2,185	head	\$1,218,738
500-600 lbs.				1,400	head	\$857,087
600-700 lbs.				120	head	\$82,485
Steer Calves (Total)						\$4,146,730
Heifer Calves						
300-400 lbs.				3,000	head	\$1,324,365
400-500 lbs.				987	head	\$514,992
500-600 lbs.				750	head	\$433,579
600-700 lbs.				329	head	\$219,153
Heifer Calves (Total)						\$2,492,089
Yearling Cattle						
600-700 lbs.				540	head	\$350,825
700-800 lbs.				500	head	\$356,063
Yearling Cattle (Total)						\$706,887
Cow-Calf Pairs (Total)				600	pair	\$570,126

CATTLE & CALVES						
Cull Cows (Total)				652	head	\$246,619
Cull Bulls (Total)				100	head	\$84,555
Cattle & Calves (Total)	280	15,112	No. Cows			\$8,247,007
DAIRY						
Dairy Cows						
Bred Heifers				33	head	\$57,255
Adult Cows				88	head	\$123,200
Cull Cows				22	head	\$12,375
Dairy Cows (Total)						\$192,830
Dairy (Total)						\$192,830
HORSES						
Brood Mares						
Race Horses	20	300	No. Brood Mares	30	head	\$240,000
Show Horses	34	328	No. Brood Mares	54	head	\$216,000
Recreation Horses	56	980	No. Brood Mares	180	head	\$270,000
Brood Mares (Total)						\$726,000
Stud Fees						
Race Horses		5	No. Stallions	25	mares bred	\$62,500
Show Horses			No. Stallions	50	mares bred	\$75,000
Recreation Horses		10	No. Stallions	80	mares bred	\$40,000
Stud Fees (Total)						\$177,500
Race Horses (Total)	20				head	\$3,720,000
Show Horses (Total)	35			460	head	\$2,300,000
Recreation Horses (Total)	56			950	head	\$1,425,000
Horses (Total)						\$8,348,500
POULTRY						
Broilers (Total)	*			7,100,000	lbs.	\$4,565,300
Edible Eggs (Total)	*		No. Hens	1,000	doz. eggs sold	\$714
Cull Hens (Total)				905,000	lbs.	\$54,300
Breeder Flocks (Total)	*	125,000	No. Birds	1,600,000	doz. hatching	\$2,960,000
					eggs sold	
Poultry (Total)						\$7,580,314
RABBITS						

WEBSTER PARISH

WEBSTER PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
RABBITS						
Fryers (Total)	6	300 N	No. Animals	1,500	lbs.	\$1,200
Does (Total)	6	120 N	No. Animals	1,800	lbs.	\$270
Rabbits (Total)						\$1,470
Quail (Total)	*	80 N	No. Breed	270	each	\$540
		S	Stock			
GOATS						
Show Goats (Total)				10	head	\$2,500
Slaughter Goats (Total)				200	head	\$25,000
Stocker Goats (Total)				100	head	\$9,500
Cull Goats (Total)				120	head	\$7,800
Goats (Total)	8	500 N	No. Does			\$44,800
SWINE						
Show Pigs (Total)				25	head	\$7,000
Feeder Pigs (Total)				150	head	\$4,500
Slaughter Hogs (Total)				100	head	\$12,022
Culls (Total)				20	head	\$3,200
Swine (Total)	10	60 N	No. Sows			\$26,722
EXOTIC ANIMALS						
Deer/Antelope (Total)	*	20 N	No. Animals	10	head	\$1,300
Llama (Total)	*	11 N	No. Animals	0	head	\$0
Exotic Animals (Total)						\$1,300
TOTAL ALL ANIMAL ENTE	ERPRISES					\$24,443,483

WEBSTER PARISH \$59,603,649